Multiplicar Tres Polinomios (G)

DO

Ot

Simplifique cada expresion.

(65 — 6)(25* + 25%)(—65> — 5% — 65)

C(4p° + 9p") (—4p® + 3p*) (3p* — 5p* — p?)

- (=7h* + 8h)(=h* 4+ 9h*)(—h* + 5h + 1)

(Tc+4)(=8c+5)(8¢° + 7¢* — 2¢)

- (5r° = 5rh)(2r% 4 57) (67 + 617 + 21%)
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Multiplicar Tres Polinomios (G) Respuestas

(@)

Simplifique cada expresion.

(65 — 6)(25* + 25%)(—65" — 5% — 65)

— —72s% — 125" + 125° + 725*

- (4p° + 9p") (—4p® + 3p*) (3p* — 5p® — p?)

= —48p" + 8p't + 217p!Y — 111pY — 27p°

(—=7h? + 8h)(—h® + 9h*)(—h* + 5h + 1)
= —7h" + 106h° — 420h° + 289h* + 7213

(Tc+4)(—=8c+5)(8¢* + 7¢* — 2¢)

— —448¢° — 368¢* + 293¢ + 134¢% — 40c

- (5r° = 5rh)(2r% 4 57) (6r* + 617 + 21%)

= 60r"" + 150r" — 40r? — 120r°® — 50r"
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